Problem 1 (15 points)

The series is a convergent geometric series so that
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For both x=1 and x=3/5 the series is absolutely convergent as a p-series with p=3.

In conclusion:

a) The series is absolutely convergent for 3/5<x<1 15 points

b) It is divergent for x>1 and x<3/5 5 points
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Problem-4 (30 points)

For the solution of the homogenous

w CASE 1l ¢* — 4ink < 0 (underdamping)
Here the roots are complex:
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since @ =, (andasaresult k —ma” =0) we obtain after substition

=x, ()= [F" }sin(mﬁ)

co
20 points

mto the equation of motion:cawB =F, and A=0
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